Sr Questions Answers Choice

. y . B. (oo s
) 5 5 e ) .
1 S Ua LS S daill o) g s mny (S o SN S (giend (S Mad i), s o g
2 G S el 8 il sl S Jad ) s moes

3 oWl ) S ama (8 e il o

Jac
sl
B

—eay

4 = LS S e o ) ) 3 L S e,

ilail
B
BN

5 =B B ey i gn Sl S padd (S

SSELSTH
BB
dall o) s
o) pu

6 = D s e (S e A,

12
13
14
15

7 o e g oS dadll o)

14
8 &S e Jadll o) gus, 15

17

127
128
129
130

9 O (e dadll o s

& 5Sall
Jadl
Jall
)

10 G 8 S 5 (S e i) e

65
66
67
68

11 = B8 oS (S 2 e Sl B8 (S daill o

) s
12 e g o B Lokes S O3l o 5 Sl i, s
Copa QA

saall e s
2 o5
el ol o

5 o) s

13 o S Caald S LS L (e T S g S,

S

Ja

Ala

14 G S8 ey S m (S S s S,

2 o s
BB
C. salle)su
D. pisme s

W» DOW > DOWr DOWr 0U0WP UOmP» U0UP UOmP UOmP» 00WP U0W» U0Wr 00Wr 00>

15 ol U 1S Caald oS L8 U (e el S g S,



16

17

18

19

20

Op S8 ey S o S (S G Sa,

o S8 pslee B s,

o o 1Sl S e S i e e o 0l i,

PEITETNT-FNST R NG R ST FU KOS )

S WS S A8 Gl S ke (S (el o5,

A. Jx=

C. Adaa
D. <

A Dspal

C. Feil)
D. Glaslza

A K jua

C. s s
D. 6o~

A A S osd

C. A Suse
D. & S uswae

A S

C. S 2558
D. S %



